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! Professional ) BOARD _
Bbemminotion Police Constable Recruitment Test -
board 2017

19th Aug 2017 09:00AM

Topic:- General Knowledge and Logical Knowledge

1)

In a family there are: Who among the following are Grandchildren of Sita? / Teh IiaR & HeEal &
A gafar I §: Peafaf@a # & sl @ & advafasr srar g 8

Harsh (Grand Father) - . Sita (Grand Mother)

|
| |
Rahul ¢—— Santa Poyanka &——» Jayesh
(Som) (Wife) (Daughter) (Husband)
| L
I ' l | : |
Kapil Kunal Pnya Sarthak Mona Parul

1. Parul, Kapil /UTW,W

2. Priyanka, Sarthak / W, i
3. Kunal, Sarita / P UITcT, RG] |

4, Mona, Rahul /Ih:ﬂ, RMgdl

Correct Answer :-

e Parul, Kapil /Wﬁb—m

2) When is the Human Rights Day celebrated? / gHareR fead fre e w=mar sirar %?
1. September 1 /RdeR 1

2. November 10 / TdsR 10

3. December 10/ fGEaR 10
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4. July 15/ TS 15

Correct Answer :-

« December 10/ fdaR 10

3) Vidisha is situated on the banks of river / fAfe= PO Tt F ae R fR@ 82
1. Ravi /Xfd

2. Sone / qH

3. Ken /&

4. Betwa / Sddl

Correct Answer :-

« Betwa/Sddl

4) According to history, who established Gwalior?/ sfasr & SR, e TaiferaR ot Rt F12
1. Rana Singh / XTUT ﬁl_s'

2. Samrat Ashok / THIC 3N

3. King Vikramaditya / XTSIT faspariea

4. Suraj Sen/Wﬁrﬁ'

Correct Answer :-
o Suraj Sen/Wﬁiﬁ'

5) If DEMAND is coded DNAMED and SUPPLY is coded YLPPUS, then how is QUANTITY coded? /
Ife DEMAND &) DNAMED ¥ 94T SUPPLY &1 YLPPUS & ®If$d far SIa1 8, 9 QUANTITY &Y
A Fifed forar S

1. YTITNAUQ
2. YTITANQU
3. YTUTANIQ

4. YTATUYIQ

Correct Answer :-

« YTITNAUQ
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6) The Author of the Biography of PM Shri Narendra Modi ‘Modi - Incredible Emergence of a Star’ is /

HUTTHA ff g T Bt S, AIG-TE aR BT g 36T & AWD o
1. Rajdeep Sardesai / JTeIT YRG0l

2. Tarun Vijay / T=0T fasrg

3. Rajiv Shrivastav / X[oitd HldTdd

4. Rajat Sharma / Tord Tt

Correct Answer :-

« Tarun Vijay / &0 f[dord

7) The headquarters of the Hindustan Aeronautics Limited is located at /%WFT wHifead fafies
BT YT $El (AT 8 ?

1. Chennai / aﬂg
2. Bengaluru / TI@QT
3. Dewas / ¢aTg

4. Koraput / w
Correct Answer :-

» Bengaluru /7 IaQF

8) The total number of Union Territories in Indiais ./ HRd | S g AMRT US|
1.11
2.10
3.12

4.7

Correct Answer :-

9) The Reserve Bank of India was established in / HRe1d ReTd 9% &} RITT H9 §'§ ipd
1. 1949
2. 1947

3. 1927
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4. 1935

Correct Answer :-
e 1935

10) Who is the Principal Economic Advisor in the Union Finance Ministry? / W PR & fa< w1y

o g1 Snfies TagePR 8 2

1. Arvind Subramanian / 3Rfd~¢ eHUgY
2. Sanjeev Sanyal / LEIERIRIN]

3. Subramaniam Swamy / YSHUGH Tt

4. Raghuram Rajan / XYXTH o7

Correct Answer :-

» Sanjeev Sanyal / LEIERIRIN]

11) Who has been named as the winner of the 2014 Sahitya Academi Award for Sanskrit / m%m

2014 ¥ Tifew SrpTeH REPR & faotar & wu & frd Arfira fear man g2
1. Ramiji Thakur / TSI 3TH

2. Mithila Prasad Tripathi / T ome farét

3. Prabhu Nath Dwivedi / T4 fgadl

4. Ram Shankar Awasthi / JH [ 3rqRf}

Correct Answer :-
 Prabhu Nath Dwivedi / UYHTY fgde

12) Who constructed the Chaturbhuj Temple of Orchha?/ frae siveT a?ilﬁ'lj\_rf Tfex @1 At
ST ?

1. Satpura Kings / Y ST TGl

2. Bundela Rajputs / @Tﬂ NG
3. King Vikramaditya / I1oT faseaiice
4. Raja Bhoj / ITSTT HIST

Correct Answer :-

 Bundela Rajputs / @T‘” NELG)
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13) Highest peak in the Vindhya Range is the / fearae aoft & Sft =t %
1. Bell Peak / o1 At

2. Mikai Range / ﬁlﬂ'ﬂ_’g gyuft

3. Cascade Range / av_ﬂaﬁ'{ guft

4. Goodwill Peak / T[Sfad T

Correct Answer :-

« Goodwill Peak / T[Sfdd AIct

14) Who is the chief of the Indian Army? / YR AT & Uqy Gac| %:?
1. Gen Bikram Singh/T‘»‘|:|T51'1%$'1:[ﬁi75r
2. Gen Dalbir Singh /WW%
3. Gen Bipin Rawat/www

4. Gen Deepak Kapoor / SR d] A2 A

Correct Answer :-

e Gen Bipin Rawat/www

15) Find the odd one out: /wﬁwmaﬂﬁmz
1. Elephants and Thumpet / _E!T?ﬁQa IELIEG]

2. Horses and Neigh /Eh%@%:l'%:l'l:ﬂ

3. Camels and Roar/&%ww

4. Dogs and Bark/ﬁ@ Wi

Correct Answer :-

e Camels and Roar/é’o_C’Q_q" aolsHl

16) In a certain code language, bey das kat means wise and clever; das som jona means clever young boy;
zup jona oon means young means fresh. Which is the word for boy in that code language? / Th W CAF
HTYT 'el, bey das kat BT 3l d wise and clever; das som jona BT 3 ¥ clever young boy AT zup jona oon BT

\?r['ifyoungmeansfresh ﬁ?ﬂ?l wﬁgwﬁboy%mmwmsﬁmﬁ%mw%‘z

1. jona
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2. kat
3. som

4, das

Correct Answer :-

17) If BOARD is coded ERDUG, then how is FKDLU coded? / Tf¢ BOARD @) ERDUG | ®ifed fPar SdT ©,

@ FkDLU ) S Difed fpar s

1. OXING
2. GOXIN
3. NIXOG

4. INGOX

Correct Answer :-

e INGOX

18) How many villages from Madhya Pradesh have been included in the Climate Smart Village Project of
the Union Ministry of Environment, Forest & Climate Change? / g 'qtl'hTUT, 99 Ud Sddrg ufad=
HATAY & FATZHE WS A Yiolae § A9 U & fora g wnfre fee e @2

1. 50
2.90
3. 80

4. 60

Correct Answer :-

e 60

19) India's nuclear-capable missile, Agni V was test fired in 2016 from / HIRd d| UIHTI] H&H m,
3 v BT 2016 & uteror faar war A

1. Munroe Island /H'_‘Iﬁﬁﬁ'q
2. Srirangam Island / Wﬁq
3. Abdul Kalam Island / 3{sgel el GIU

4, Havelock Island / kel
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Correct Answer :-

« Abdul Kalam Island / 3/eg¢l alTd gIY

20) Consider a group comprising of 4 students: Reena, Beena, Meena and Neena, who stand in a row.
Reena and Beena stand in 6th and 7th positions respectively from the left. Meena and Neena stand in the
4th and Sth positions respectively from the right. When Beena and Meena exchange their positions, then
Beena will be 15th from the left. Originally, Neena's position from the left is: / 4 B3 '\Ff"'lT, WT, W=
3R T & TP T W foar &, o) v ufea A @St &1 971 o fiF 1 a1 3k & Hu: 6d 3R 7d
R TR GS! g | F471 3R F11 a1 3R & Han: Y 3R Uiad RIF W @1 3 | §F SiA1 3R i1
T R B} Srgar-geent HRet &, d 1 ang F 158 ft 1 a1 3R A e It e Rufa @:

1. 16
2. 14
3.13

4.5

Correct Answer :-

21) The probability of Sita, Gita and Mita passing a test is 60 %, 40 % and 20 % respectively. What is
the probability that at Sita and Gita will pass the test and Mita will not? / mT‘IT, ar ik Har & Udh

e Il 817 Y UTRIB T PHRT: 60%, 40% 3R 20% & | T UTRIPdT g o et iR ar udten &
Iitof g St 3R Har Sl =gt gifie

1. 38.4%
2. 60%
3.4.8%

4.19.2%

Correct Answer :-
e 19.2%

22) If 1st June, 2006 is a Tuesday, how many Sundays would be there in the month? /afe I 2006 |

gl dRIE &1 HIAaR g, 9 59 #e | fpaq g g
1.6
2.7

3.5
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4.4

Correct Answer :-

23) Which of the following words are inscribed on the national emblem? / ¥4 Udi® W A4
# A 91 A g 3ifdra 82

1. Satyameva Jayate /Wﬂa\_rl'q?f
2. Vande Mataram /a%II'I?RT[
3. Jana — gana — mana / SIH-T0-H

4. Bharat Mata Ki Jai / HIRd HIdT &1 51

Correct Answer :-

e Satyameva Jayate /wﬁa\—mﬁ

24) Complete the series choosing the missing number: / T JWT TAB AT HI TRT HIOIC:
2,8,3,27,4,

1. 82

2. 64

3.32

4. 48

Correct Answer :-

25) Complete the series choosing the missing number: / T JWT TAB YT HI TRT HIOIC:
324,108, 36, 12,

1. 16

2.8

3.4

4.2

Correct Answer :-
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. 4

26) Complete the series choosing the missing number: / & TBAT GAHR YT DI GRT DITOIQ:
1,4,9,16,_

1.25

2. 44

3.23

4. 32

Correct Answer :-

27) Select the option that is true about the Statements and Conclusions given:

Statements:
All papers are sheets
All sheets are books

Conclusions:
I. All papers are books
II. All books are papers

/39 fawen &1 9u1 P Sife Ay U Sy ik et & ar @ T8t 8:
DY:

W RS e §

it IR D

e

1. 9t T G §

1. 9+ 75 e §

1. neither conclusion I nor conclusion II follows / = Bt fTsF I 3R 7 g} FAeh 11 IR0 FHRd §
2. both conclusion I and 11 follows / FTSHY 1 SR 11 GHI 3FTRT B &

3. only conclusion II follows / Fad f5HY 11 STERTT BT §

4. only conclusion I follows / B HY [ TRV BT §
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 only conclusion I follows / dad ey 1 STV hdl B

28) Select the option that is true about the Statements and Conclusions given:

Statements:
All pillars are walls
All walls are houses

Conclusions:
I. All houses are pillars
I1. All pillars are houses

/39 fawpey &1 94 FIforE Sife faw e HyAY o fAepuf & IR & 981 8:
CAGH

wft TN daw §

T AR = E

e

Lt REN g

IL I G R T

1. neither conclusion I nor conclusion II follows / -1 33[ fspy 1 3R A _Eﬁ ey 11 IR0 GG %
2. both conclusion I and II follows / FT5HY I 3R 11 g1 ST IRA G

3. only conclusion I follows / ad e 11 TR0 HIdT g

4. only conclusion I follows / Had Y | S{FHRUT pdl ?

Correct Answer :-
« only conclusion II follows / $Had FpY 11 TR HIdT g

29) Select the option that is true about the Statements and Conclusions given:

Statements:
All paintings are drawings
No drawing is a picture

Conclusions:
I. No painting is a picture
I1. No picture is drawing

/39 APy &1 9= Fifoe sife faw e Fy=T sik fAepul & IR A 981 8:

DY
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it tfEr ggn &

oIS ot T iR Tel &

s

1. H1S oft UfdT aediz Y &

IL. F1 oft ok g 7ET §

1. neither conclusion I nor conclusion II follows / ébf ﬁ'@;ﬁl GhT «J gjf ﬁ'&b—ﬁf 1T 3R W %
2. both conclusion I and II follows / F55Y 1 3R 11 g1 ST HId %

3. only conclusion II follows / &Had FpY 11 STV hdl g

4. only conclusion I follows / Had ﬁm’?ﬁl SRV hdl %

Correct Answer :-

« both conclusion I and II follows / TS 1 3R 11 GIAT STTERT IRA G

30) Select the option that is true about the Statements and Conclusions given:

Statements:
Some boys are screws
All screws are nuts

Conclusions:
I. Some boys are nuts
II. All nuts are boys

39 fareu &1 9g9 FIfoE Sife 2T e Hy=T 3R eyl & IR A I8l 8:
Y

PO TSP T T

aftdge g

e

L PO ASH AC 8

g e asH &

1. neither conclusion I nor conclusion II follows / 7 &1 F5HY I 3R 7 & FAsHY 11 SFTTRT Hd &
2. both conclusion I and II follows / FT5HY I 3R 11 G STERTT Hd &

3. only conclusion II follows / A fSHY 11 STIRVT BT &

4. only conclusion I follows / Ha SHY [ TRV BT §
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Correct Answer :-

« only conclusion I follows / Had SHY [ TRV BT §

31) Who was the Chairman of the Partition Council? / fdHTS_ URug & 3regef &I A?
1. Lord Mountbatten / dfe ATScded

2. Jawaharlal Nehru / STATERATA A8&

3. MLA. Jinnah / TH.Q. 50T
4. V.P.Menon / atﬁﬂtﬁ

Correct Answer :-

« Lord Mountbatten / @€ AdcacH

32) Find the odd one out: /Wﬁ'ﬂﬁﬂﬁm:
24, 33,60,71,51, 15

1. 15

2.71

3.33

4. 60

Correct Answer :-

33) ‘Good Governance Day’ is observed on the birthday of Indian’s former prime minister

./ G e HRa & qd gy & TAfeay W maifora far smar 31
1. Lal Bahadur Shastri / 9Te] 98TgR Tl
2. Indira Gandhi / SGRT TTieh
3. Atal Bihari Vajpayee / 3(¢d fogR} arorgdt
4. Rajiv Gandhi / Jroid Tieft

Correct Answer :-

 Atal Bihari Vajpayee / 3ccl ICRECISERI]
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34) The Dibang Wildlife Sanctuary is located in the Indian State of / {3 a=ueila SIUARTY
YR 359 H fRa gl

1. Jammu & Kashmir / Wﬂi[\?:ﬁ? HIR
2. Sikkim / FfepH
3. Arunachal Pradesh / 31Ul e
4. Odisha / 3f&M

Correct Answer :-

e Arunachal Pradesh / S{¥=UMT<dT el

35) The national park which was declared as a tiger reserve in 1983 is National

Park. / 1983 ¥ fore1 I¥1g urdh &1 e15TR fyord wifta fosar wa at, 95 TP TS B
1. Panpatha / U-TUTT

2. Sanjay Dubri / Golg GaR1

3. Pench / U9

4. Kanha / ST6]

Correct Answer :-

« Pench/Ud

36) Complete the series choosing the missing letters: / &I &R 3&RY Bl AP m Ca| R aﬂﬁq;
PArp__qq__rppp__qqr__r__qrppg__rr

Lprpnqp

2.p,0Q,1,p, 0,1

3.p,p0, Q1T

4.p,1,0,1P,q

Correct Answer :-

® pl r‘Iql r’p’q

37) The series given below contains a sequence of numbers. Identify the incorrect combination: /= ?ﬁ TI'§

adr ®, TSt BT TP HH SUFRRI § | Terd TS Ugdar-e:

2,7,22,67,204
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1.7
2.204
3.2

4. 22

Correct Answer :-
e 204

38) The series given below contains a sequence of numbers. Identify the incorrect combination: EiG T:ﬁ "'I'sc

siaar ®, TSIl BT TP HH SUFRI § | Terd TS Ugdr-e:
120, 99, 80, 63, 47, 35

1.47

2. 63

3. 80

4. 35

Correct Answer :-

. 47

39) A person eligible to become the president of India should not be less than / URRd &1

Iyufd 99 91 AfR B §9 99 | $H 81 ST AR
1. 40 Years of age / 40 TTd & Y
2. 35 Years of age/ 35 ITd & 39
3. 60 Years of age / 60 I B IY

4. 50 Years of age /50 ITd P 3H

Correct Answer :-

« 35 Years of age/ 35 I &I U

40) In a certain code jose mose kle means posh white carand mose sut feo means black or white
.Which is the word for white in that language? / T% Wl HIS UTUT H, jose mose kle F1 34Y posh
white car TUT mose sut feo d1 I black or white ﬁ?ﬂ %I £ BIS HIUT H whited ﬁl‘l;f foa o

BT XA T T 82

1. jose
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2. feo
3. mose

4. sut

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1) In the sequence shown below, which figure comes next? / =l fedr T3 & &, 379Te(T
HHid i T IRAET?

H 1 t X ?

d

L
4.

Correct Answer :-

2) |nthe sequence shown below, which figure comes next? / A &3 1 &7 #, el
HTRid i T I7RE?
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Correct Answer :-

3) If the following two squares shown below overlap, which one of the following options
is formed? / Afg o= @1 @91 wfdeatd g1d & df e = & & &9 @1 & faed aear 87
1.
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i

Correct Answer :-

4) Rs. 750 are divided among A, B and C in such a manner that A: B=5:2and B: C=7: 13, What is
A’s share? / 750 BUT P A, B3R C F NI SHUPR IicT TIfF A: B=5:23RB:C=7:1381A
& fda sy firer

1. Rs. 250 /250 24U
2. Rs. 200/200 %4y
3. Rs. 260 /260 ®UU

4. Rs. 350 /350 %44

Correct Answer :-

e Rs.350/350%UU

5) How many minutes does a car take to cover a distance of 200 m, if it runs at a speed of 60 kmph? / 60

forti/ae @1 919 3 99 I8 TP SR B 200 Hiex B g1 a9 B H foa=r gug @
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6) How many three digit numbers are divisible by 5? / 5 ¥ faurfora Eﬁﬁ arelt 3 il ot fora-t E3EGILY
&2

1. 100
2. 180
3.175

4. 10

Correct Answer :-

. 180

7) Evaluate 743 x 999. / 743 x 999 BT HIF =1 gM:
1. 724457

2. 784527

3. 742257

4. 74257

Correct Answer :-

o 742257
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8) The ratio of the present ages of a father and his son is 9 : 4. After five years, the sum of their ages will
be 75 years. What is the present age of the father? / fOdT 3R l el 3t ada= SITg BT 3AJUTd 9:4 HERIGH
e, 31 Mg BT ART 75 T8 g1 | frar &Y adur smg w82

1. 45 years / 45 Gl
2. 40 years / 40 Gl
3. 30 years / 30 Gl

4. 35 years / 35 Gl

Correct Answer :-

e 45 years/45 Gl

9) 20% of a quantity is Rs. 400, the quantity equals: / fpaq 3ud &1 20%, 400 IS Wﬁ"'ﬂ?
1. Rs. 200 / 200 3T

2. Rs. 2000 / 2000 3T

3. Rs. 8000 / 8000 3T

4. Rs. 800 / 800 3TA

Correct Answer :-
« Rs. 2000 /2000 3T

10) A certain piece of work can be completed by 12 men in 9 days. After they have worked for six days,
six more men joined them. How many days will it take to complete the remaining work? /12 W&Rﬁ

gRT {5t &1a &Y 9 fo & 1 foban wiraT 81 ©: fa7 10 #3A & 91 39 T1Y 6 3 3R 98 oa
| 3 ST QI EH | fa fa i

1.4
2.2
3.1

4.3

Correct Answer :-
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¥ 3ff¥e UK gd 8, <t ¢ I fba vud fareie
1. 30,000
2. 25,000
3. 27,000

4. 23,000

Correct Answer :-
e 27,000

12) A is two years older than B who is twice as old as C. If the total of the ages of A, B and C be 27, the
how old is A? / A, B 9 &I UTd 98T 8 Sfh ¢ Y MG HT TR AT A, B 3R ¢ N1 &) a1 3y 27
a3 d@Y A Bt 3y fprat 82

1. 12
2.10
3. 18

4. 15

Correct Answer :-

e 12

13) A and B can together finish a work in 30 days. They worked at it for 20 days and then B left. The
remaining work was done by A alone in 20 more days. B alone can do the entire work in / A 3B

THATY fHd S0 B 30 f37 F qR1 32 God €1 20 37 F19 $1 & 918 B HTH SIS a1 3| AT HH
B A GRI 3PA B W 20 f&7 &7 sifaflvaa 0T @131 B 31t 39 H1H I fpaq A A1
ST UTT?

1. 60 days / 60 fa1
2. 50 days / 50 fa=1
3. 54 days / 54 f&A

4. 48 days / 48 f&

Correct Answer :-
e 60 days /60 f&

14) A retailer buys a washing machine marked at Rs. 4,800 and gets two successive discounts of 15%
and 5%. If he spends Rs. 124 on transportation and sells the washing machine at a gain of 13%, then find
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the selling price of the machine. / T TTURY 4800 ¥UT & 3ifdd Feq &t T aIiRAT 7= Y 15% 3R
5% B PIP Fel R Wiledl 81 Ul a8 124 U 3P URae UR T Hd1 € 3MR T 13% & 1Y
TR aT 8 Y 1T 9=ie @1 fasha gea @2

1. Rs. 3520 / 3520 ST
2. Rs. 4520 / 4520 3UA
3. Rs. 5520/ 5520 3UY

4. Rs. 2520/ 2520 ST

Correct Answer :-

e Rs. 4520 /4520 S0

15) Speed of a boat in still water is 10 kmph, and speed of the stream is 5 Kmph. In how many minutes
would the boat cover a distance of 5 km downstream? / fRIR 5Tl & T A1 @1 °91d 10 fopd).der %, MR
YRT B! 1 5 fHei/der 31 RT3 faudia fezn & 5 fowdt. Y g T w2 o 719 =+ fovas firme

LS LiEl b

1. 20 minute / 20 TH.
2. 30 minute / 30 T,
3. 40 minute / 40 .

4. 25 minute / 25 T,

Correct Answer :-

e 20 minute /20 TH.

16) The age of two persons differ by 2 years. If the sum of their ages is equal to the square root of 144
then find the age of the elder among the two person. / <! safaaal &1 ST BT 3 2 a9 g1 afe 3!
TG BT AT 144 F - & IRIGR 8 a1 a1 A 99 a1 B 3y fara-t 82

1.2
2.6
3.7

4. 10

Correct Answer :-
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The age of A is six times the age of his son. A's father is 40 years older than him. Together, they are 118

years old. What is the age ofA?/Aﬁarrgw%gaaﬁarrgaﬂﬁzg'—ﬂ%l A%ﬁ?ﬂaﬁsﬂ'ﬁmm
T 3if¥re 81 37 TP T 3 118 T 31 A BT MY fbaii 82

1. 18 years / 18 Gl
2. 36 years / 36 Gl
3. 42 years / 42 Gl

4. 76 years / 76 Gl

Correct Answer :-

e 36 years/ 36 Gl

18) The average mark of 50 students is 75. If the marks obtained by one of the student had been written

as 36 instead of 86, then the corrected average of marks is: / 50 farenfat & urwie) @1 it 75 %I gfe
T faemdf g1 uT 86 SiwT B 36 fora fean STy, 4t il 31 At i B

1.51
2.76
3.36

4. 61

Correct Answer :-

e 76

19) A group of 15 people has average age of 45 years. Two persons are excluded and the average of the
remaining is increased by 5 years. What is the average age of the two persons who have been excluded? /

15 @RT & TP TG |, N Bt 3T Mg 45 a9 31 & saforaal & e 9 R siad 5 9 /¢ Siran
21 e ara QA aafeaal @) i 3y fat ot

1. 20 years / 20 Gl
2.12.5 years / 12.5 a4
3. 15 years/ 15 Gl

4. 10 years / 10 Gl

Correct Answer :-

e 12.5years/ 12.5 CL
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In the world cup, Yuvraj has a batting average of 65 in 7 matches till semi-final. How much should
Yuvraj score in the 8" match i.e. the final match to get a batting average of 85? /fayeu ﬁ, ﬁtﬁ-m‘s'q?r

a% 7 Tl § GavTol 1 qeciaret SN 65 4T JavTST Hi 3764 A H fhaq 37 991 =1 fF wrgaa
g o IHPT 3N 85 8 512

1. 230
2.215
3. 220

4. 225

Correct Answer :-

e 225

21) A train takes 8 sec to cross a 75 metre long platform at a speed of 90 km/h. What is the length of the

train? / 90 fH/Ee P AT | I W6 9 B 75 He? T TP WeHhTH B YR H1 A 8 V. @0 &1 34
P AHTS fpa-l 82

1. 125 metre / 125 Y,
2. 150 metre / 150 HI.
3. 75 metre / 75 Iﬁ

4. 100 metre / 100 HT.

Correct Answer :-

e 125 metre/ 125 Y.

22) Which one of the following four addresses is NOT EXACTLY same as the one given below? / ra ﬁ'a ™

IR dl # 4 A1 il T ud & Sto wHE 1 |91 U 6 o2

George Hillier
London Borough of Lewisham
9The Town Hall

Catford, London SE6

(i) George Hillier

London Borough of Lewisham

9The Town Hall
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Catford, London SE6

(ii) George Hillier
London Barough of Lewisham
9The Town Hall

Catford, London SE6

(iii) George Hillier
London Borough of Lewisham
9The Town Hall

Catford, London SE6

(iv) George Hillier

London Borough of Lewisham
9The Town Hall

Catford, London SE6

1. iii

23) In what ratio must Rs. 50 per kg salt be mixed with Rs. 80 per kg salt to obtain a mixture worth of Rs. 60

per kg. / 50 SUA/fHAT. AT THS B 80 TUA/ U1 10t THS | 5 srgura H faramar wime {6 ffifa frgror
P DA 60 &/ fHI1.31 wITL?

1.1:2
2.2:1
3.1:1

4.3:2
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Correct Answer :-

24) Find the sum of the given series: /a gt m BTN ITd aﬁﬁrq:
3+9+27+81+243 +729 + 2187 + 6561

1. 9840

2. 9855

3. 7960

4. 8892

Correct Answer :-

e 9840

25) Find the average. 13iad FRrerferd |
62, 54, 44, 36, 28 & 22

1.43

2.39

3.40

4. 41

Correct Answer :-
e 41

26) In an examination, 36% of the students failed in English and 40% failed in Hindi. If 20% of the students
failed in both subjects, then the pass percentage is / Th T3t H 36% faendf i A 3R 40% ﬁ?]T‘t’ﬁ%?ﬁ
o et 81 MY afe A fawal & bt faemedf 209 & Y wry gu fenfia &1 ufosra @2

1. 42%
2. 44%
3. 46%

4. 40%

Correct Answer :-

. 44%
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27) The area of a triangle is 150 m2. The ratio of its base to its height is 3:4. Find the length of its base. / TP

Y 71 & 150 H.2 31 3HP SMUR MR HTATS T 3JUT 3:4 3| SHP SATUR I T3 A1
1. 45 cm / 45 GHT,
2.30 cm/ 30 9HT.
3.15cm/ 15 99T

4,25 cm /25 99,

Correct Answer :-

e 15cm/ 159,

28) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / T &Y TE g@a #, 3&RY 3R N3l B1 v HH FAfRd &1 Ted Yo vgE:

i.gfjku2301ujfkg
ii.gfjku2301ujfkg
iii.gfjku2301ugfkg
iv.gfiku2301ujfkg

1. iii

29) X sells his goods 20% cheaper than Y and 20% dearer than Z. How many % is Z's goods cheaper/dearer
than Y's? / X 3[0= HIA BT Y F 20% T 3R Z F 20% A I9A1 ¢ | Z BT A Y F AT & foe=m agm
QT AT 32

1. 33.33%
2. 50%
3. 40%

4. 42.5%
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Correct Answer :-

e 33.33%

30) In 2004, a new shirt costs Rs. 250, while in 2005 it was Rs. 400. Calculate by how much percent has the

cost of the shirt increased from 2004 to 2005? / 2004 H, Teh =4} T1¢ &1 B 250 TUA A} SafP 2005 A ug
400 3T B A1 2004 |/ 2005 F SR U B P A fra wfa=ra it s gdi»

1. 60%
2.55%
3. 90%

4. 40%

Correct Answer :-

e 60%

Topic:- Science and Simple Arithmetic

1) ; of the stamps in Ravi's stamp collection are Indian stamps and the remaining are
foreign stamps. What is the ratio of Indian stamps to foreign stamps in Ravi's stamp
collection? / ﬁ*ﬁqmﬁg O g & 3 9 facel of g £ RO o9 &7
fagelr ¥ & w1 Fua &7

1.2:5

2.5:7

3.5:2

4.7:5

Correct Answer :-

« 2:5

2
) By what number should we multiply —i so that the product may be *-_95 ?IRH - i
I foe Tear § T HY SR AR — 81 S
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Correct Answer :-

3) A person sells an article for Rs. 550, gaining ﬁ of its C.P. Its gain percentage is A

=afed T aEq F 550 T F dueT ¥, HEE qF FAAFT T G WA A 8| gHH aN
wieRrd el

1. 5%
2.5.5%
3.55%

4. 10%

Correct Answer :-

4) If 3x + 2y = 12 and xy = 6, then 9x2 + 4y? = .1 AfG 3x + 2y = 12 AYUT xy = 6, T 9x + 4y? =

1. 36
2. 144
3.72

4,52

Correct Answer :-
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5) In a circle, if a chord AB is nearer to the center O than the chord CD, then: /wqaﬁ, gfe
Sftar CD &Y ga=1 ¥ sftar AB ¥+ O ¥ 3if¥e e @, a:

) AB=CD

5 AB< CD

AB>=CD
3.

4. AB=CD

Correct Answer :-

AB>=CD

6) In a temple there are 25 cylindrical pillars. The radius of each pillar is 28cm and height 4m.

The total cost of painting the curved surface area of pillars at the rate of Rs. 8 per m? is: /T
AR H 25 SATPR Y § | TS WH Pt BrodT 28 Tt TU1 HaTs 4 . 71 39 WUl 3t Ui &1
AT =1 gt wrafes 9 ot arma . 8 wfa ot . 2:

1. Rs. 1408 / 1408 2.
2.Rs. 1760/1760%.
3. Rs. 1480/ 1480 %.
4. Rs. 2520/2520%.

Correct Answer :-

e Rs. 1408/1408%.

7) After 12 years, I shall be 3 times as old as I was 4 years ago. My present age is: / A1 3T 12 ad
& q1¢ I g DI 3 T 81 Seeht forasit 4 af g f 1 36 g oy fe=r 2

1. 10 years / 10 Y
2. 12 years / 12 9%
3. 13 years/ 1399

4. 14 years / 1499

Correct Answer :-

e 12 years/12 G




8) Which one of the following expressions is polynomial? / e ¥ & 1 OT &iol® JgU<Ia 872

2%3 + 3x7!
S+ 1

&
Ixt+3x+8
3xz + Sx? + 6x

Correct Answer :-

9) The smallest number by which 1100 must be multiplied so that the product becomes a perfect
squareis___ ./ GgBIEIA DI TB g Fora 1100 &Y 7on far s anfe aifes v uHwa
ot ot g Wi

1.11
2.5
3.2

4.10

Correct Answer :-

e 11
10) What is the probability that a number selected from the numbers 1, 2, 3........ ,25 is a prime
number, when each of the given numbers is equally likely to be selected? / @si 1,2,3,....... ,25

A I BT & TG B R I AT GBHT P 3HTST =T 314 Bt fhd-t AHTGHT §, Saf U o
TS &A1 & Iaf~d g1 B TH JHTGT 82

8
1. 25
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H
) s

Correct Answer :-

11) What is the smallest number by which 3087 must be divided so that the quotient is a perfect
cube? / T8 DIt A BId B W Wew 2 Foraw 3087 &Y faurfora foran wime foras yrmwa gof w1 812

1.3
2.21
3.7

4.9

Correct Answer :-

12) Which method of purification of water does NOT Kill germs? / TN & R{[@WUT Cikac] M U&‘ﬁf
Prerursii B A8 aRd! 8

1. Boiling / 3Tl

2. Filtration / STT

3. Distillation / 3{THd-

4. Chlorination / FIRIHIHOT

Correct Answer :-
e Filtration / STIT

13) The most comfortable distance at which one can read with a normal eye is: / 98 atfs HﬁEIT'IUf

o RO R 31 wafd amara SifE & g awar
1.25 cm /25 9
2. 20 cm /20 .
3.15cm/ 15 9HT.

4. 10 cm / 10 9,

Correct Answer :-
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e 25cm/259H

14) In anaerobic respiration if yeast is added to fruit juices, the sugar gets converted to which chemical

substance? / Bdll & IH H fAATE 91 a1 @HR A 811 919 3arad iy 494 § 2l foa ramafe uerd #
IS ST 82

1. Citric acid / H@'@EQ@I@'
2. Formic acid / U’T\Iﬁ%@g
3. Lactic acid / a% Qﬁl@
4. Alcohol / TeebTgIcl

Correct Answer :-

« Alcohol / TehIgid

15) The important property of magnet which was exploited by navigators and travelers from the ancient

times%s:/Wmagngaqﬁwmm“mﬁﬁammﬁﬁmuﬁﬂqmﬁﬁmww%,
e

1. Repulsive property / PISEANED] T
2. Induction property / PR T
3. Directional property / fa=m eeht o1

4. Attractive property / {THY] BT o7

Correct Answer :-

 Directional property / fa=m W?ﬂ‘IUT

16) During Diwali, crackers are burst outside the building. We hear the sound a bit later after

we see it bursting. This is because: /W%ﬁ?ﬁ,mm%wmﬂﬁ?l 3% S
& AT &R a1q & el FATS Iefl @ T gaiene i

1. Sound wave has same intensity but different frequency / eaf= ORI DI derdl THH gt % IR GHQ'R'[ IRENGII

g

2. Light travels faster than sound / UhIR[ g aTrf YT hdl %

3. Our ears take longer time to hear the sound / R & @ Qi'-lq o 3ifrr TET Ad §

4. Sound travels faster than light / 3 UebTRI Bt gaTT & dot I B4l §

Correct Answer :-

» Light travels fastergtags : F
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17) Identify the one that is not a part of live stock. / SH®I UgHTH HITOIC Sifh U BT HIT
T B

1. Duck / §d9d

2. Peacock / AR

3. Cattle /nﬁmﬂ
4. Fowl / g

Correct Answer :-

e Peacock / AR

18) Name the tissue which is not found in animal. / TR[3f # T UTA WM 9T SHdP BT ATH
qarga|

1. Adipose tissue / T SHdP
2. Meristematic tissue / fTAHSIIID SHdd

3. Dendrite / OTRAdq

4. Connective tissue /wﬁﬂ $Hddh

Correct Answer :-

o Meristematic tissue / fAHOId® SHdb

19) Choose the correct units of time in ascending order. / 3RIE! HH H IHY $1 T&t giﬁﬁ'tﬁ Eal

g P

1. Second, day, year, month, minutes, hour / JpUS, f&1, g, A, fire, der

2. Second, hour, year, month, minutes, day / SbUS, TeT, a¥, HetT, fide, faa

3. Second, minutes, hour, day, month, year / @T:I?Ug, ﬁ:rc’, EiET, ﬁ:f, I@:ﬂ, ay
4. Second, day, month, year, minutes, hour / @EFUS’, ﬁ:l, Il_sﬂ:ﬂ, aﬁ, ﬁ-FI'c', B[]

Correct Answer :-

« Second, minutes, hour, day, month, year / Jpus, e, der, faq, Agh, g

20) Cholera is caused by: / 85T 5% HRUT AT &

1. Fungi / dd
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2. Protozoa / UTCISI3T

3. Viruses / dlUY
4. Bacteria / \_rﬁaTUl

Correct Answer :-

» Bacteria / \_rﬁaTUl

21) When sodium reacts with chlorine, sodium chloride is formed; the heat is in the reaction. /

w9 Aifeaq FRE & 91y fiforar sdr 8, df Sifeud saRge &1 fAmfor giar g, srfifrar & Soar
|

1. not exchanged / AT TET BI<t ®
2. decomposed / 3Mqafed gt 8

3. evolved / faw Ry 8Kt 8

4, absorbed / GW'Q'ﬁﬁT‘[ Eul?ﬁ %

Correct Answer :-

e evolved / famRa E?I?ﬁ %

22) What is the feed of broiler chickens? / ﬁv'l's'g?R' e &1 W T %?

1. Protein rich with adequate quantity of fat and sufficient carbohydrates with vitamin rich supplement /faefim g

R IRP & 1Y T HET H 991 Td Ui plaigrgel O HRGT W

2. High quantity of mixed food grains / IGERCICIE IR Rl
3. Usually protein and fat laden components / UIeH U9 g 9 4R gl YUch

4. Vitamin rich supplementary food / ICEIERES] PR W o

Correct Answer :-

e Protein rich with adequate quantity of fat and sufficient carbohydrates with vitamin rich supplement /fqeftm g

IRQR YR & 1Y AT A H 997 U9 9 PraigRgel ¥ HRQR Ui

23) Write the name of reptile with four chambered heart. / IR Piard &ad ara m P19 fod |
1. Varanus / %

2. Lizard / Sl

3. Chameleon / TRRTE

4. Crocodile / H
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Correct Answer :-

e Crocodile / HIRHATS

24) Heart, arteries and veins work together. It is an example of which level of organisation? / §¢4, i
YT RRRTE T |14 &1 S 7 | I5 16 & o ViR BT 3G1670I 32

1. Tissue / Hd®H
2. Organ system / 37T PIYIK]]

3. Cell / BIRABT

4. Organ / 3T

Correct Answer :-

« Organ system / 3T PIYIK]]

25) AIDS cannot be transmitted by ./ g8 » GIRT Taid qﬁﬁ' HqhdTl
1. sexual contact / T TUH

2. hugs / ol SATHT

3. breast feeding / ¥ 3TERR

4, blood transfusion / I&ATYTT

Correct Answer :-

. hugs/TI@f SR

26) The microorganism that acts as the fermenting agent in the conversion of sugar into

alcohol is: / J&ASIIT St BT & Tedlsid B URadT § WHR $HE B g S Hedr &
1. Lactobacillus / daeiRTas

2. Rhizobium / JTgeifead

3. Yeast / @HR

4. Penicillium / U-1Rferam

Correct Answer :-

e Yeast/WHR
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ABCD is a rectangle. Its diagonals meet at O. If OA = 2x + 4 and OD = 3x + 1, then x is: / T® 3TRId

ABCD g139% fasul, O R fiad §1afd OA =2x + 4 R OD =3x + 1, A x FTAF =1 &:
1. -1
2.-2
3.2

4.1

Correct Answer :-

e 1

28) Raj borrowed Rs. 5000 at 10% per annum on simple interest and lent the same amount at 15%
per annum on compound interest. At the end of 2 years, he would: / XTol A 10% aTfes TR sATST
TR 5000 F. BT BT forar 3R I YRR B 15% s Tepgfes saret W 30 aafaa &1 & fear 2 af
& 91¢ 39:

1. Gain Rs. 612.50/612.50 . &1 @TH g1
2. Gain Rs. 621.50/ 621.50 3. T ATH BT
3. Loss Rs. 612.50/612.50 5. &1 T g1}

4. Loss Rs. 621.50/621.50 5. &1 1 g1

Correct Answer :-

« Gain Rs. 612.50/612.50 5. &1 ATH B

o o .
29) 1n the given figure, AB | CD, “ABO = 100 , and ©0OCD = 110 , then “BOC = __. / Ryt R ¥,
o o
aB ' cp, “ABO = 100", 71 “0CD = 110, &t “BOC =

1. 80
2. 60
3.70

4.30
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Correct Answer :-

30) If the area of a square is 16cm?2, then the area of the square joining the mid-points of the sides

is: / 9fc TP Tl BT &wd 16 9 AL, B, o o ot Yormaii & e fagan o e areft Yamai @
fafifa ot &1 arwa A= g

1. 32 cm?/ 32 9 Q.
2.8 cm?/ 8 T Q.
3.4 cm? / 4 9 Y.
4.16 cm? / 16 91 I,

Correct Answer :-

« 8cm?/8 9 I,
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